
k|:t'tstf{

ljgf]b afa' vs'/fn

O{lGhlgo/





sdnfdfO{ gu/kflnsf, l;Gw'nL



sdnfdfO{ gu/kflnsf, l;Gw'nL

:yfkgf M @)%#

# g+= k|b]z, hgsk'/ c~rn

If]qkmn M $*@=%& ju{ ls=dL=

j8f ;+Vof M !$

kl/ro



hg;+Vof ljj/0f

(l;Gw'nLsf :yflgo tx j:t'ut ljj/0f, @)&$)

 s"n hg;+Vof M ^^,^#!

 3/w'/L ;+Vof M !%,^%(

 hg3gTj M !%( hgf k|lt j=ls=dL=

 ;fIf/tf k|ltzt M *^=^( Ü

 k'?if M *@=%! Ü

 dlxnf M &%=%^ Ü



 wd{

lxGb" M &#=$#Ü af}4 M @@=$(Ü

lqmlZrog M !=(#Ü k|s[lt M !=%(Ü

gv'n]sf] M )=$Ü

 efiff

g]kfnL M ^%=#&Ü tfdfª\ M @)=@*Ü

du/ M $=&(Ü g]jf/ M @=*&Ü

bg'jf/ M !=(&Ü

 hfthflt

tfdfª\ M @!=(Ü If]qL M !(=*^Ü

du/ M !!=$%Ü g]jf/ M !)=#Ü

a|fDx0f M (=&@Ü



j8fut k|ult ljj/0f

२०७^।०७&



ljj/0f ;+Vof

;8s @$

vfg]kfgL !$

;fd'bflos ejg %

lzIff %

l;rfO{ %

k|sf]k @

laB't !

ljljw !

hDdf %&

j8f g+= !

ljj/0f ;+Vof

j8fut of]hgf ;+Vof $$

sfo{kflnsf lg0f{oaf6 %

gu/ k|d'vsf] lg0f{o *

hDdf of]hgf ;+Vof %&

;Demf}tf ePsf of]hgf ;+Vof %$

;Demf}tf gePsf of]hgf ;+Vof #

;DkGg of]hgf ;+Vof %$

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 66,71,141.24 53,20,438.38

sNe6{ 1=00 uf]6f 2,54,568.72 2,00,000.00

gfnf 429=60 ld6/ 23,12,239.41 18,48,953.08

;f]lnª\ 20=00 ld6/ 31,611.85 25,289.00

u|fe]n 1=02 ls=dL= 1,46,610.70 1,17,281.36

lk=l;=l;= 31=00 ld6/ 3,75,366.91 3,00,000.00

cf/=l;=l;= 15=50 ld6/ 1,42,323.47 1,00,000.00

gofF 6«Øfs vf]Ng] 4=34 ls=dL= 25,07,158.69 19,98,911.65

dd{t 2=15 ls=dL= 9,01,261.45 7,31,003.27

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 21,82,891.24 16,94,946.00

6Øf+sL lgdf{0f 3 uf]6f 7,30,472.08 5,76,549.00

6Øf+sL dd{t 2 uf]6f 6,30,304.15 5,00,000.00

kfOk 1440 ld6/ 2,42,246.26 1,79,397.00

Ogf/ 5 uf]6f 5,79,868.75 4,40,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 30,97,114.57 24,50,000.00

ejg dd{t 2 uf]6f 26,56,023.08 21,00,000.00

sDkfp08jfn 1 uf]6f 1,25,043.59 1,00,000.00

cGo 2 uf]6f 3,15,047.90 2,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 10,12,538.30 7,75,000.00

lgdf{0f 2 uf]6f 2,09,489.55 1,75,000.00

dd{t 3 uf]6f 8,03,048.75 6,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 7,56,929.39 6,00,000.00

dd{t 1 uf]6f 62,770.96 50,000.00

zf}rfno 1 uf]6f 1,87,896.91 1,50,000.00

dlGb/÷u'Daf lgdf{0f 2 uf]6f 4,43,725.86 3,50,000.00

dlGb/ dd{t 1 uf]6f 62,535.66 50,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 3,95,393.20 3,00,000.00

t6aGw 2 uf]6f 3,95,393.20 3,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 1,87,824.88 1,50,000.00

1 uf]6f 1,87,824.88 1,50,000.00



ljj/0f ;+Vof

;8s ## 
vfg]kfgL #

;fd'bflos ejg %

lzIff !

l;rfO{ &

laB't !

ljljw !

hDdf %!

j8f g+= @

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #@

sfo{kflnsf lg0f{o &

gu/ k|d'v lg0f{o (

k|b]z #

hDdf of]hgf ;+Vof %!

;Demf}tf ePsf of]hgf ;+Vof $(

;Demf}tf gePsf of]hgf ;+Vof @

;DkGg of]hgf ;+Vof $*

rfn' of]hgf ;+Vof !

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,18,93,097.00 98,74,847.00

sNe6{ 2.00 uf]6f 13,75,000.00 11,00,000.00

gfnf 15=00 ld6/ 2,50,000.00 2,00,000.00

;f]lnª\ 306=00 ld6/ 6,87,000.00 5,50,000.00

lk=l;=l;= 29=00 ld6/ 2,50,000.00 2,00,000.00

gofF 6«Øfs vf]Ng] 7=87 ls=dL= 84,99,847.00 71,49,847.00

dd{t 8=27 ls=dL= 8,31,250.00 6,65,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 21,85,959.84 19,58,959.84

lgdf{0f 2  uf]6f 14,84,407.84 14,84,407.84

dd{t 1 uf]6f 68,552.00 68,552.00

zf}rfno 2 uf]6f 6,45,000.00 5,20,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 8,98,645.00 4,49,322.50

nfOg lj:tf/
12
100

ls=dL=

kf]n
8,98,645.00 4,49,322.50



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 18,76,449.00 15,00,000.00

6Øf+sL lgdf{0f 2 uf]6f 7,19,375.00 5,75,500.00

6Øf+sL dd{t 1 uf]6f 48,851.00 39,000.00

kfOk 6280 ld6/ 11,08,223.00 8,85,500.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 13,75,000.00 11,00,000.00

dd{t 7 uf]6f 13,75,000.00 11,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 1,51,875.00 1,21,500.00

cGo 1.00 uf]6f 1,51,875.00 1,21,500.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 1,25,000.00 1,00,000.00

cGo 1.00 uf]6f 1,25,000.00 1,00,000.00



ljj/0f ;+Vof

;8s @^ 
;fd'bflos ejg #

lzIff #

l;rfO{ (

ljljw !)

hDdf %!

j8f g+= #

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #&

sfo{kflnsf lg0f{o #

gu/ k|d'v lg0f{o !)

;+3÷k|b]z !

hDdf of]hgf ;+Vof %!

;Demf}tf ePsf of]hgf ;+Vof %)

;Demf}tf gePsf of]hgf ;+Vof !

;DkGg of]hgf ;+Vof $&

rfn' of]hgf ;+Vof @

sfd gePsf] of]hgf ;+Vof !



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 97,49,500.00 78,20,000.00

lk=l;=l;= 365=00 ld6/ 43,74,500.00 35,00,000.00

cf/=l;=l;= 56=00 ld6/ 7,50,000.00 6,00,000.00

gofF 6«Øfs vf]Ng] 2=10 ls=dL= 20,37,500.00 16,50,000.00

dd{t 5=44 ls=dL= 25,87,500.00 20,70,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ s'nf] 12,37,000.00 10,60,000.00

dd{t 9 uf]6f 12,37,000.00 10,60,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 18,86,576.41 15,98,076.41

lgdf{0f 1 uf]6f 17,74,076.41 14,99,076.41

dd{t 1 uf]6f 1,99,130.80 1,99,130.80

dlGb/ 1 uf]6f 1,12,500.00 90,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 49,12,963.00 47,87,963.00

sDkfp08jfn 2.00 uf]6f 6,25,000.00 5,00,000.00

cGo 1.00 uf]6f 42,87,963.00 42,87,963.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 35,09,857.08 33,09,861.08

cGo 9.00 uf]6f 35,09,857.08 33,09,861.08



ljj/0f ;+Vof

;8s $! 
vfg]kfgL !!

;fd'bflos ejg !#

lzIff $

k|sf]k @

hDdf &!

j8f g+= $

ljj/0f ;+Vof

j8fut of]hgf ;+Vof $@

sfo{kflnsf lg0f{o $

gu/ k|d'v lg0f{o !*

;+3÷k|b]z÷;8s af]8{ &

hDdf of]hgf ;+Vof &!

;Demf}tf ePsf of]hgf ;+Vof &!

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof ^(

rfn' of]hgf ;+Vof @

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,27,64,130.31 1,12,34,749.52

sNe6{ 3=00 uf]6f 3,73,635.38 3,00,000.00

gfnf 323=00 ld6/ 18,75,000.00 15,00,000.00

u|fe]n 1=25 ls=dL= 7,50,000.00 6,00,000.00

lk=l;=l;= 96=00 ld6/ 12,50,820.27 10,00,000.00

gofF 6«Øfs vf]Ng] 2=11 ls=dL= 20,98,702.95 16,75,000.00

dd{t 2=65 ls=dL= 64,15,971.72 61,59,749.52

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 67,96,517.17 54,71,073.00

lgdf{0f 7 uf]6f 51,43,317.55 41,14,654.00

k|ltIffno dd{t 1 uf]6f 3,75,876.80 3,00,000.00

dlGb/ dd{t 1 uf]6f 97,419.50 97,419.00

zf}rfno 3 uf]6f 9,38,311.55 7,50,000.00

cGo 1 uf]6f 2,41,591.77 2,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 33,03,324.18 27,00,000.00

6Øf+sL lgdf{0f 4 uf]6f 9,96,410.42 8,00,000.00

kfOk 7500.00 ld6/ 6,40,620. 5,15,494.00

Ogf/ 10 uf]6f 6,25,000.00 5,00,000.00

wf/f 1 uf]6f 3,75,000.00 3,00,000.00

cGo 2 uf]6f 6,66,293.76 5,84,506.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 16,87,088.36 13,50,000.00

sDkfp08jfn 4.00 uf]6f 16,87,088.36 13,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 13,13,319.84 10,50,000.00

klx/f] lgoGq0f 2.00 uf]6f 13,13,319.84 10,50,000.00



ljj/0f ;+Vof

;8s %) 
vfg]kfgL ^

;fd'bflos ejg %

lzIff !

k|sf]k !

ljljw #

hDdf ^^

j8f g+= %

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #(

sfo{kflnsf lg0f{o &

gu/ k|d'v lg0f{o !$

;+3÷k|b]z ^

hDdf of]hgf ;+Vof ^^

;Demf}tf ePsf of]hgf ;+Vof ^^

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof ^@

rfn' of]hgf ;+Vof $

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,68,05,441.83 1,44,63,329.61

sNe6{ 5 uf]6f 16,96,608.59 13,00,000.00

gfnf 858=00 ld6/ 28,25,885.26 23,59,000.00

u|fe]n 0=56 ls=dL= 3,04,405.00 2,42,560.00

lk=l;=l;= 213=00 ld6/ 23,48,089.03 18,78,471.20

cf/=l;=l;= 141=50 ld6/ 20,31,037.57 16,20,000.00

dd{t 2=38 ls=dL= 75,99,416.38 70,63,298.41

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 22,19,121.98 17,71,942.86

6Øf+sL dd{t 1 uf]6f 3,27,247.95 2,61,798.36

kfOk 2627 ld6/ 5,17,324.00 4,13,859.30

Ogf/ 20 uf]6f 10,04,192.61 8,00,000.00

wf/f 8 uf]6f 32,857.42 26,285.20

cGo 2 uf]6f 3,37,500.00 2,70,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 68,37,549.27 61,77,157.70

lgdf{0f 2.00 uf]6f 48,28,837.10 45,77,157.70

dd{t 1.00 uf]6f 6,26,019.37 5,00,000.00

dlGb/ 1.00 uf]6f 12,52,536.05 10,00,000.00

zf}rfno 1.00 uf]6f 1,30,156.74 1,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 4,39,228.68 3,50,000.00

dd{t 4.00 uf]6f 4,39,228.68 3,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 1,25,301.00 1,00,000.00

cGo 1.00 uf]6f 1,25,301.00 1,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 12,53,319.84 10,00,000.00

klx/f] lgoGq0f 1.00 uf]6f 12,53,319.84 10,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 1,87,510.00 1,50,000.00

cGo 2.00 uf]6f 1,87,510.00 1,50,000.00



ljj/0f ;+Vof

;8s @( 
vfg]kfgL !)

;fd'bflos ejg !&

lzIff %

ljljw #

hDdf ^$

j8f g+= ^

ljj/0f ;+Vof

j8fut of]hgf ;+Vof $!

sfo{kflnsf lg0f{o *

gu/ k|d'v lg0f{o !)

;+3÷k|b]z %

hDdf of]hgf ;+Vof ^$

;Demf}tf ePsf of]hgf ;+Vof ^#

;Demf}tf gePsf of]hgf ;+Vof !

;DkGg of]hgf ;+Vof ^@

rfn' of]hgf ;+Vof !

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,61,84,315.30 1,32,69278.19

sNe6{ 2 uf]6f 9,79,860.66 7,83,890.00

gfnf 1233=80 ld6/ 78,73,236.89 61,59,941.05

u|fe]n 1=12 ls=dL= 6,00,386.76 4,75,000.00

cf/=l;=l;= 236=30 ld6/ 26,32,551.21 20,86,000.00

dd{t 1=57 ls=dL= 40,98,279.78 37,64,447.14

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 1,70,80,930.97 1,51,29,734.90

lgdf{0f 9 uf]6f 1,05,47,328.10 98,16,611,.86

dd{t 2 uf]6f 11,63,123.04 11,63123.04

dlGb/÷u'Daf 5 uf]6f 48,70,479.83 37,50,000.00

cGo 1 uf]6f 5,00,000.00 4,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 23,33,842.48    18,49,000.00

ejg lgdf{0f 1 uf]6f 12,72,592.48 10,00,000.00

ejg dd{t 2 uf]6f 3,11,250.00 2,49,000.00

cGo 2.00 uf]6f 7,50,000.00 6,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 1,51,86,085.96 1,51,86,085.96

cGo 2.00 uf]6f 1,51,86,085.96 1,51,86,085.96

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 19,76,440.56 15,61,798.36

6Øf+sL lgdf{0f 2 uf]6f 4,52,247.95 3,61,798.36

Ogf/ 28 uf]6f 15,04,192.61 12,00,000.00



ljj/0f ;+Vof

;8s #^ 
vfg]kfgL (

;fd'bflos ejg %

lzIff $

ljB't !

ljljw @

hDdf %&

j8f g+= &

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #)

sfo{kflnsf lg0f{o %

gu/ k|d'v lg0f{o !^

;+3÷k|b]z ^

hDdf of]hgf ;+Vof %&

;Demf}tf ePsf of]hgf ;+Vof %&

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof %%

rfn' of]hgf ;+Vof @

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,88,90,462.97 1,50,92,099.58

sNe6{ 5 uf]6f 6,36,833.62 5,30,000.00

gfnf 1006 ld6/ 48,26,096.89 37,00,900.00

u|fe]n 0=66 ls=dL= 3,35,606.29 2,50,000.00

;f]lnª\ 242=20 ld6/ 3,13,594.40 2,29,800.00

cf/=l;=l;= 265=90 ld6/ 20,73,891.14 16,02,400.00

gofF 6«Øfs vf]Ng] 6=96 ls=dL= 44,80,198.63 40,40,263.38

dd{t 3=56 ls=dL= 62,24,242.00 47,38,736.20

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 15,04,357.94 12,00,000.00

6Øf+sL lgdf{0f 3 uf]6f 4,38,490.29 3,50,000.00

6Øf+sL dd{t 1 uf]6f 2,51,112.11 2,00,000.00

kfOk 2630 ld6/ 5,00,000.00 4,00,000.00

Ogf/ 2 uf]6f 2,26,505.05 1,80,000.00

cGo 1 uf]6f 88,250.49 70,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 15,19,086.63 12,00,000.00

lgdf{0f 2 uf]6f 8,91,998.75 7,00,000.00

u'Daf dd{t 2 uf]6f 3,74,525.90 3.00,000.00

cGo 1 uf]6f 2,50,561.98 2,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 28,26,461.85 21,50,000.00

sDkfp08jfn 3 uf]6f 26,37,859.67 20,00,000.00

cGo 1 uf]6f 1,88,602.18 1,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 21,45,776.89 17,00,000.00

cGo 2 uf]6f 21,45,776.89 17,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 36,89,335.48 18,44,667.7

d'Vo nfOg 7=50 / 125 ls=dL= / kf]n 12,32,147.98
18,44,667.74

zfvf nfOg 30=0 / 250 ls=dL= / kf]n 24,57,187.50



ljj/0f ;+Vof

;8s @# 
vfg]kfgL *

;fd'bflos ejg &

lzIff @

ljB't @

l;+rfO{ @

k|sf]k @

ljljw @

hDdf $*

j8f g+= *

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #^

sfo{kflnsf lg0f{o ^

gu/ k|d'v lg0f{o ^

;+3÷k|b]z )

hDdf of]hgf ;+Vof $*

;Demf}tf ePsf of]hgf ;+Vof $*

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof $$

rfn' of]hgf ;+Vof $

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,12,24,293.21 91,19,628.19

sNe6{ 6 uf]6f 9,46,164.56 7,40,000.00

gfnf 516=00 ld6/ 39,13,448.05 29,28,000.00

;f]lnª\ 175=00 ld6/ 2,21,320.00 1,77,000.00

u|fe]n 0=50 ld6/ 2,00,000.00 1,60,000.00

cf/=l;=l; 104=55 ld6/ 13,23,377.98 10,25,000.00

6«Øfs vf]Ng] sfo{ 5=00 ls=dL= 10,45,000.00 8,36,000.00

dd{t 0=93 ls=dL= 35,72,982.62 32,53,628.19

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 17,95,608.78 14,32,400.00

6Øf+sL lgdf{0f 1 uf]6f 2,51,065.28 2,00,000.00

6Øf+sL dd{t 4 uf]6f 8,16,540.50 6,50,000.00

kfOk 1550 ld6/ 2,08,000.00 1,66,400.00

Ogf/ 1 uf]6f 1,45,000.00 1,16,000.00

cGo 1.00 uf]6f 3,75,000.00 3,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 34,68,495.80 29,96,716.10

lgdf{0f 2 uf]6f 15,90,883.16 14,96,716.10

dd{t 1 uf]6f 3,75,000.00 3,00,000.00

dlGb/ 1 uf]6f 3,75,000.00 3,00,000.00

zf}rfno 3 uf]6f 11,27,612.64 9,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 10,00,101.51 8,00,000.00

ejg dd{t 1 uf]6f 2,50,101.51 2,00,000.00

sDkfp08jfn 1 uf]6f 7,50,000.00 6,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 64,70,858.16 32,00,000.00

d'Vo nfOg 23=0 / 235 ls=dL= / kf]n 31,49,613.16
32,00,000.00

zfvf nfOg 32=0 / 411 ls=dL= / kf]n 33,21,245.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 8,75,000.00 7,00,000.00

t6aGw 2 uf]6f 8,75,000.00        7,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 7,50,000.00 6,00,000.00

lgdf{0f 2 uf]6f 7,50,000.00 6,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

cGo 8,22,885.54 7,00,000.00

ljljw 1 uf]6f 8,22,885.54 7,00,000.00



ljj/0f ;+Vof

;8s #! 
vfg]kfgL ^

;fd'bflos ejg *

l;+rfO{ #

k|sf]k @

ljljw $

hDdf %$

j8f g+= (

ljj/0f ;+Vof

j8fut of]hgf ;+Vof @(

sfo{kflnsf lg0f{o #

gu/ k|d'v lg0f{o !&

;+3÷k|b]z %

hDdf of]hgf ;+Vof %$

;Demf}tf ePsf of]hgf ;+Vof %$

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof %!

rfn' of]hgf ;+Vof @

sfd gePsf] of]hgf ;+Vof !



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,09,71,861.43 90,15,758.25

sNe6{ 1 uf]6f 2,51,679.87 2,00,000.00

gfnf 194=50 ld6/ 13,81,230.09 11,00,000.00

lk=l;=l;= 62=60 ld6/ 6,54,249.88 5,23,399.90

cf/=l;=l;= 28=20 ld6/ 6,64,095.32 5,31,276.26

gofF 6«Øfs vf]Ng] 0=18 ls=dL= 5,63,143.00 4,50,000.00

dd{t 3=64 ls=dL= 74,58,463.27 62,11,083.09

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 44,59,356.15 35,63,548.90

kfOk 8235 ld6/ 29,64,612.90 23,82,474.30

wf/f 250 uf]6f 8,76,343.25 7,01,074.60

Ogf/ 9 uf]6f 6,18,400.00 4,80,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 8,88,650.01 7,00,000.00

dd{t 3 uf]6f 8,88,650.01 7,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg

lgdf{0f 2 uf]6f 5,66,694.92 4,50,000.00

dd{t 1 uf]6f 1,28,135.00 1,00,000.00

k|ltIffno 1 uf]6f 2,45,376.00 2,00,000.00

zf}rfno 3 uf]6f 14,42,929.57 11,50,000.00

cGo 1 uf]6f 7,52,942.27 6,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff

ejg lgdf{0f uf]6f 2,67,0634.92 2,67,0634.92

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k

klx/f] lgoGq0f 2 uf]6f 5,22,947.80 4,20,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw

cGo 4 uf]6f 9,35,525.80 8,00,000.00



ljj/0f ;+Vof

;8s #$ 
vfg]kfgL &

;fd'bflos ejg ^

lzIff ^

ljB't !

l;+rfO{ !)

k|sf]k !

ljljw @ 

hDdf ^&

j8f g+= !)

ljj/0f ;+Vof

j8fut of]hgf ;+Vof $*

sfo{kflnsf lg0f{o $

gu/ k|d'v lg0f{o !!

;+3÷k|b]z $

hDdf of]hgf ;+Vof ^&

;Demf}tf ePsf of]hgf ;+Vof ^^

;Demf}tf gePsf of]hgf ;+Vof !

;DkGg of]hgf ;+Vof ^#

rfn' of]hgf ;+Vof @

sfd gePsf] of]hgf ;+Vof !



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,31,00,019.07 1,14,49,372.71

gfnf 129=40 ld6/ 13,71,197.43 10,80,000.00

;f]lnª\ 43=55 ld6/ 63,237.44 50,000.00

lk=l;=l;= 60=80 ld6/ 4,68,883.25 3,75,000.00

gofF 6«Øfs lgdf{0f 1=87 ls=dL= 6,88,543.25 5,50,000.00

dd{t 9=06 ls=dL= 10508158.70 93,94,362.61

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 23,42,733.69 18,75,000.00

lgdf{0f 2 uf]6f 16,87,500.00 13,50,000.00

dd{t 3 uf]6f 4,66,296.12 3,75,000.00

k|ltIfno 1 uf]6f 1,88,937.57 1,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 25,52,785.75 21,00,000.00

ejg dd{t 1 uf]6f 1,25,790.83 1,00,000.00

sDkfp08jfn 5 uf]6f 24,26,994.92 20,00,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 14,01,766.36 11,20,000.00

6Øf+sL lgdf{0f 1 uf]6f 2,45,500.00 1,96,400.00

6Øf+sL dd{t 1 uf]6f 1,25,465.81 1,00,000.00

kfOk 7000 ld6/ 4,25,140.54 3,39,500.00

Ogf/ 2 uf]6f 1,50,160.01 1,20,000.00

cGo 1 uf]6f 4,55,500.00 3,64,100.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 13,16,892.44 10,50,000.00

dd{t 10 uf]6f 13,16,892.44 10,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 30,01,092.59 15,00,000.00

d'Vo nfOg 7=00 / 77 ls=dL= / kf]n 10,44,660.09
15,00,000.00

zfvf nfOg 21=0 / 200 ls=dL= / kf]n 19,56,432.50



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 1,26,045.40 1,00,000.00

t6aGw 1 uf]6f 1,26,045.40 1,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 1,00,000.00 1,00,000.00

cGo 1 uf]6f 1,00,000.00 1,00,000.00



ljj/0f ;+Vof

;8s @$ 
vfg]kfgL &

;fd'bflos ejg *

lzIff !

l;+rfO{ !^

ljljw @

hDdf %*

j8f g+= !!

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #(

sfo{kflnsf lg0f{o *

gu/ k|d'v lg0f{o *

;+3÷k|b]z #

hDdf of]hgf ;+Vof %*

;Demf}tf ePsf of]hgf ;+Vof %*

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof %&

rfn' of]hgf ;+Vof !

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,46,46,332.75 1,13,88,000.00

sNe6{ 5 uf]6f 38,86,818.16 29,88,000.00

gfnf 262=40 ld6/ 19,69,444.44 15,30,000.00

;f]lnª\ 353=00 ld6/ 5,85,000.00 4,68,000.00

u|fe]n 0=53 ls=dL= 2,12,356.00 1,65,000.00

lk=l;=l;= 27=00 ld6/ 3,75,000.75 3,00,000.00

cf/=l;=l;= 6=00 ld6/ 1,00,232.23 80,000.00

6«Øfs vf]Ng] sfo{ 8=55 ls=dL= 20,97,948.55 15,61,000.00

dd{t 4=19 ls=dL= 54,19,532.62 42,97,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 57,24,043.41 53,92,313.68

lgdf{0f 3 uf]6f 45,42,313.65 44,42,313.68

dlGb/÷u'Daf 3 uf]6f 3,79,229.76 3,00,000.00

cGo 2 uf]6f 8,12,500.00 6,50,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 6,52,572.72 5,50,000.00

6Øf+sL lgdf{0f 1 uf]6f 3,76,975.19 3,00,000.00

Ogf/ 2 uf]6f 2,75,597.53 2,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 18,37,973.84 14,96,200.00

dd{t 12 uf]6f 15,82,740.05 13,00,000.00

cGo 4 uf]6f 2,55,233.79 196,200.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 1,87,500.00 1,50,000.00

ejg dd{t 1 uf]6f 1,87,500.00 1,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw 2,49,500.27 1,99,200.00

cGo 2 uf]6f 2,49,500.27 1,99,200.00



ljj/0f ;+Vof

;8s !& 
vfg]kfgL @

;fd'bflos ejg #

lzIff %

l;+rfO{ !$

ljB't !

ljljw !$

hDdf %^

j8f g+= !@

ljj/0f ;+Vof

j8fut of]hgf ;+Vof $$

sfo{kflnsf lg0f{o $

gu/ k|d'v lg0f{o &

;+3÷k|b]z !

hDdf of]hgf ;+Vof %^

;Demf}tf ePsf of]hgf ;+Vof %^

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof %%

rfn' of]hgf ;+Vof !

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 1,19,74,710.18 89,59,781.00

sNe6{ 1 uf]6f 1,86,201.20 1,40,000.00

gfnf 121=00 ld6/ 8,53,103.97 3,14,000.00

;f]lnª\ 116=00 ld6/ 1,72,804.08 1,37,000.00

u|fe]n 0=16 ls=dL= 1,64,012.31 1,30,000.00

6«Øfs vf]Ng] sfo{ 6=93 ls=dL= 48,11,952.96 37,66,000.00

dd{t 22=37 ls=dL= 57,86,635.77 44,72,781.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 19,78,500.00 16,00,000.00

ejg dd{t 2 uf]6f 8,51,500.00 7,00,000.00

sDkfp08jfn 3 uf]6f 11,27,000.00 9,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 19,46,000.00 15,50,000.00

lgdf{0f 1 uf]6f 1,26,000.00 1,00,000.00

dd{t 13 uf]6f 18,20,000.00 14,50,000.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL

6Øf+sL lgdf{0f 1 uf]6f 3,76,975.19 3,00,000.00

kfOk 700 ld6/ 1,27,000.00 1,00,000.00

Ogf/ 3 uf]6f 4,02,597.53 2,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg

lgdf{0f uf]6f 15,20,506.83 15,20,506.83

dd{t 1 uf]6f 2,26,500.00 2,00,000.00

sDkfp08jfn 2 uf]6f 3,77,000.00 3,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljljw

cGo 14 uf]6f 2,67,000.00 2,67,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 3,00,435.00 1,50,000.00

nfOg lj:tf/
4
30

ls=dL=

kf]n
3,00,435.00 1,50,000.00



ljj/0f ;+Vof

;8s @! 
vfg]kfgL ^

;fd'bflos ejg &

lzIff ^

l;+rfO{ $

k|sf]k !

hDdf $%

j8f g+= !#

ljj/0f ;+Vof

j8fut of]hgf ;+Vof #$

sfo{kflnsf lg0f{o #

gu/ k|d'v lg0f{o ^

;+3÷k|b]z @

hDdf of]hgf ;+Vof $%

;Demf}tf ePsf of]hgf ;+Vof $$

;Demf}tf gePsf of]hgf ;+Vof !

;DkGg of]hgf ;+Vof $#

rfn' of]hgf ;+Vof !

sfd gePsf] of]hgf ;+Vof )



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 67,81,274.42 54,23,235.00

gfnf 316=00 ld6/ 15,22,653.48 12,18,653.48

lk=l;=l;= 91=00 ld6/ 5,85,877.37 4,68,701.90

cf/=l;=l;= 28=10 ld6/ 7,52,894.39 6,00,000.00

sfnf]kq] 33=50 ld6/ 2,50,000.00 2,00,000.00

6«Øfs vf]Ng] sfo{ 2=00 ls=dL= 14,93,206.35 11,94,565.08 

dd{t 1=66 ls=dL= 21,76,642.83 17,41,314.56

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 23,13,353,15 18,50,284.90

6Øf+sL lgdf{0f 1 uf]6f 1,25,000.00 1,00,000.00

kfOk 2700 ld6/ 9,61,786.90 7,69,429.50

Ogf/ 2 uf]6f 3,12,997.00 2,50,000.00

cGo 1 uf]6f 9,13,569.25 7,30,855.40

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 18,79,894.00 15,04,894.00

dd{t 4 uf]6f 18,79,894.00 15,04,894.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 11,29,130.16 9,00,000.00

ejg dd{t 1 uf]6f 5,04,130.16 4,00,000.00

sDkfp08jfn 2 uf]6f 2,50,000.00 2,00,000.00

cGo 3 uf]6f 3,75,000.00 3,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 40,15,396.16 32,59,540.7

lgdf{0f 1 uf]6f 18,79,662.13 16,69,540.70

dd{t 3 uf]6f 3,62,925.06 2,90,000.00

k|ltIffno 1 uf]6f 5,07,673.50 4,00,000.00

dlGb/ dd{t 1 uf]6f 3,77,343.16 2,00,000.00

cGo 1 uf]6f 8,87,792.31 7,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 6,28,781.52 5,00,000.00

t6aGw 1 uf]6f 6,28,781.52 5,00,000.00



ljj/0f ;+Vof

;8s !% 
vfg]kfgL %

;fd'bflos ejg #

lzIff !

l;+rfO{ @

k|sf]k !

hDdf @&

j8f g+= !$

ljj/0f ;+Vof

j8fut of]hgf ;+Vof @!

sfo{kflnsf lg0f{o @

gu/ k|d'v lg0f{o #

;+3÷k|b]z !

hDdf of]hgf ;+Vof @&

;Demf}tf ePsf of]hgf ;+Vof @&

;Demf}tf gePsf of]hgf ;+Vof )

;DkGg of]hgf ;+Vof @%

rfn' of]hgf ;+Vof )

sfd gePsf] of]hgf ;+Vof @



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 70,77,399.75 56,60,009.36

sNe6{ 1 uf]6f 6,26,330.77 5,00,000.00

gfnf 1445=50 ld6/ 41,61,744.82 33,29,395.86

u|fe]n 1=39 ls=dL= 4,87,404.00 3,89,923.20

dd{t 0=89 ls=dL= 18,01,920.16 14,40,690.30

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 29,95,516.55 23,95,574.47

6Øf+sL dd{t 1 uf]6f 6,26,048.24 5,00,000.00

Ogf/ 3 uf]6f 8,76,211.10 7,00,968.70

cGo 2 uf]6f 14,93,257.21 11,94,605.77

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 7,09,706.48 5,67,765.18

ejg dd{t 1.00 uf]6f 7,09,706.48 5,67,765.18



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 15,19,870.34 12,71,331.47

dd{t 1 uf]6f 4,71,331.47 4,71,331.47

dlGb/ 1 uf]6f 3,75,619.08 3,00,000.00

cGo 1 uf]6f 6,73,019.79 5,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 3,79,764.15 3,00,000.00

t6aGw 1.00 uf]6f 3,79,764.15 3,00,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ s'nf] 11,31,412.05 9,00,000.00

lgdf{0f 1 uf]6f 3,76,868.48 3,00,000.00

dd{t 1 uf]6f 7,54,543.57 6,00,000.00



;du| k|ult ljj/0f

२०७^।०७&



ljj/0f ;+Vof

;8s $)$ 
vfg]kfgL ($

;fd'bflos ejg (%

lzIff $$

ljB't &

l;+rfO{ &@

k|sf]k !@

ljljw $$

hDdf &&@

ljj/0f ;+Vof

j8fut of]hgf ;+Vof %!^

sfo{kflnsf lg0f{o ^(

gu/ k|d'v lg0f{o !$#

;+3÷k|b]z÷;8s af]8{ $$

hDdf of]hgf ;+Vof &&@

;Demf}tf ePsf of]hgf ;+Vof &^#

;Demf}tf gePsf of]hgf ;+Vof (

;DkGg of]hgf ;+Vof &#%

rfn' of]hgf ;+Vof @#

sfd gePsf] of]hgf ;+Vof %



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

;8s 16,47,70,537.11 13,51,20,012.19

sNe6{ 32 uf]6f 1,12,13,701.53 87,81,890.00

gfnf 6=85 ls=dL= 3,09,73,532.08 2,41,21,449.15

;f]lnª\ 1=08 ls=dL= 20,74,568.23 16,99,652.00

u|fe]n 7=19 ls=dL= 32,00,781.24 25,29,766.81

lk=l;=l;= 975=40 ld6/ 1,06,82,784.29 85,02,357.40

cf/=l;=l; 882.05 ld6/ 1,04,70,402.74 83,10,218.10

sfnf]kq] 33=50 ld6/ 2,50,000.00 2,00,000.00

gofF 6«Øfs 

vf]Ng]

47=91 ls=dL= 3,03,23,199.63 2,48,71,586.65

dd{t 68=22 ls=dL= 6,55,81,567.38 5,61,03,092.08



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

vfg]kfgL 2,90,07,229.53 2,20,39,470.59

6Øf+sL lgdf{0f 19 uf]6f 47,12,511.40 38,37,222.55

6Øf+sL dd{t 11 uf]6f 32,65,470.96 22,50,798.27

kfOk 40662 ld6/ 86,94,953.60 61,22,054.10

Ogf/ 87 uf]6f 67,20,722.19 52,87,968.70

wf/f 259 uf]6f 12,84,200.67 10,27,359.80

cGo 10 uf]6f 43,29,370.71 35,14,067.17

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

l;+rfO{ 1,38,14,589.62 1,09,73,348.00

lgdf{0f 6 uf]6f 14,62,358.03 11,75,000.00

dd{t 67 uf]6f 1,20,96,997.80 96,02,148.00

cGo 4 uf]6f 2,55,233.79 1,96,200.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ejg 6,01,28,318.40 5,16,12,541.43

lgdf{0f 33 uf]6f 3,67,57,523.89 3,31,20,985.12

dd{t 16 uf]6f 41,49,783.47 37,17,137.31

Wfld{s ejg 20 uf]6f 89,36,836.42 66,04,419.00

zf}rfno 13 uf]6f 44,70,906.51 35,70,000.00

sDkfp08jfn 2 uf]6f 3,77,000.00 3,00,000.00

k|ltIfno 4 uf]6f 13,17,862.38 10,50,000.00

cGo 8 uf]6f 41,18,405.73 32,50,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

lzIff 2,47,37,005.87 2,15,96,863.00

ejg lgdf{0f 1 uf]6f 39,43,228.40 36,70,634.82

ejg dd{t 9 uf]6f 49,71,001.90 44,66,765.18

sDkfp08jfn 20 uf]6f 96,28,986.57 76,50,000.00

cGo 11 uf]6f 61,93,789.00 58,09,463.00



of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

k|sf]k 54,94,571.75 43,70,000.00

t6aGw 7 uf]6f 24,04,984.27 19,00,000.00

klx/f] lgoGq0f 5 uf]6f 30,89,587.48 24,70,000.00

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

ljB't 1,43,60,366.23 71,43,990.24

d'Vo nfOg

37=50 ls=dL=
54,26,421.23

71,43,990.24
437 uf]6f

zfvf nfOg

99=00 ls=dL=
89,33,945.00

991=00 uf]6f

of]hgf lzif{s k|ult OsfO{ nfut ?= cg'bfg ?=

cGo 1,21,86,578.42 1,11,31,759.04

ljljw 39 uf]6f 1,21,86,578.42 1,11,31,759.04



pkef]Qmf ;ldlt dfkm{t ;+rfng ePsf of]hgf ;+Vof — &@%

af]nkq dfkm{t ;+rflnt of]hgf ;+Vof — @(

l;njGbL b/efpkq dfkm{t ;+rflnt of]hgf ;+Vof — &

b/efpkq dfkm{t ;+rflnt of]hgf ;+Vof — !!

hDdf of]hgf ;+Vof — &&@


